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ABHINAY MATHS CLASSES

AVERAGE

The average of first ten prime numbers is:

T 10 9T GEAS 1 s @ #7

(a) 10.1 (b) 10

(c) 129 (d 13

The average of all odd numbers less than 100 is:
100 § %7 |l foawm Hemst w1 fwa:

(a) 49.5 (b) 50

(c) 50.5 (d) 51

The average of nine consecutive numbers is n. If

the next two numbers are also included, then the
new average will:

9 AN G &1 sied n ¢ AR ARG
gEel i 3K At o forn S|, d 7o sl

(a) increase by 2 (2 9€ M)
(b) remain the same (THM &)
(¢) increase by 1.5 (1.5 9 &)
(d) increase by 1 (1 &g S

If average of 20 observation x,, X, .....x,, is y, then the
average of x~101, x,~101, x,~101, ...... x,,~101 is:

g 20 Feront X Xy wennX
x~101,x,-101, x,-101, ...... x,~101 &7 Si=d gm;

(a) »-20 (b) y-101
(c) 20y (d) 101y
The average of n numbers x , x,, ....... x, is x.. Then

the value of Z(xi —X) is equal to
i=1

m
@ — (b) m+n

(c) mn (d) m—n

Fifteen movie theatres average 600 customers per
theatre per day. If six of the theatres close down but
the total theatre attendance stays the same, then the
average daily attendance per theatre among the
remaining theatres is:

15 =t PRl o sliea Jfafes g R
¥ 600 TR T Bl A% FAE, W6 FPRIR 7% B
T foheg ForieX & o1 amei, @t o surefd agt
Al & @ 9 e @ 9 v et St

1 Sirae ofrer gufeafd w22
(A) 900 (B) 1000
(C) 1100 (D) 1200

The average, ofy8 numbers is 20. The average of

first tw@numbers is 15% and that of the next three

1
is 215 ) If the sixth number be less than the seventh

and eighth numbers by 4 and 7 respectively, then
the eighth number is :

8 HEMsl # SEd 20 T YUH = GEes o

1 N . . 1
ﬁwlszéﬁﬁi el i Geed w1 S Zlg%l

Ife Bt TEm, 7 AR g W@ ¥ HE: 4 3R
7 &H B, q@ 8o Hem F: 2?

(a) 18 (b) 22
n qETs b J x 1 3 x Bl Z(x,- _’_‘) (©) 25 (d) 2.7 .
! i1 10.  The average of 8 readings is 24.3. Out of which the
T HM: average of first two is 18.5 and that of next three is
(2) n (b) 0 21.2. If the sixth reading is 3 less than seventh and
3 4 more than eighth, what is the sixth reading?
© nx (d) g 8 oM 1 3Ed 243 B e @ wEed q H
The average of x numbersyis ? and the average of'y SEd 18.5 3R oTTel @ @1 21.2 ©1 3R Bal
numbers is x*. Find the average of all the numbers RO, 7 343 FH AR 8 9 T 4 SR 7, @1 B3
taken together. TR I B
X EI@II.aiTEF.I g ) IR y el 1 sl 1 81 AR 11. A student finds the average of ten 2-digit numbers.
Tt Tl w e o ST o S S g While copying numbers, by mistake, he writes one
-\ number with its digits interchanged. As a result his
() X (b) x answer is 1.8 less than the correct answer. The
ety Y difference of the digits of the number, in which he
made mistake, is :
x4y L, T BE 10 fg-AFa Senst &1 siEd I
© — (d) xy*+yx L
X+y FA B GEme # foed TEE Tad 9§ T
If the average of m numbers is n* and that of n HEA % S e S E R I. 1a: W gg"[
numbers is m?*. Then find the average of ( m + n) ST 1.8 FA U BT S| W Hewm F Sl o
numbers. H o 7, 57 gemsti § 387 Tord &1 27
m SIS w1 S 22 AR FEmst w1 SEa (a) 2 () 3
{1 TIER (m-+n) Gt 1 Ea F B2 (c) 4 (d) 6
12. A student calculated the average of 10, three digit
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ABHINAY MATHS CLASSES

number. But due to mistake he reversed the digits 20. If the average of 7 consecutive even number is 44.
of'a number and thus his average increased by 19.8. Find the difference between first and last number.
Eim(i1 tlzle ((iiliffert;nﬁe be;tx})lveen thg unit digit and IfE 7 MR 98 Gemetl &1 iad 44 €, @t geel
undreds digit o t. ato t. atnl{m €T. . aiR afad o 1 7 SEr
T B 10 TH-3TF T G@Ael 1 Sed e . .
3 5 . . 21.  Iftheaverage of 17 consecutive even number is 143.
¢ e | T ® S Find the diffi bet first and last b
- 3 er.
3 @ 19.8 @ T EYE Q. ind the difference e‘ween‘ irst and las num% .
&0 a%x 3°h|§ 3ﬁ_{ de a%x TH W 317*—‘] el q&{ 17~ AR 9H H{Q“‘IF\%‘[[ Sl AN 143 =T,
ST T el HEA SR fEd WA 1 S TR Bim?
13. In an exam, the average marks obtained by the | 22-  The weight of 5 members of 18 is measured in
students was found to be 60. After omission of sequence and the average weightis calculated after
computational errors, the average marks of some the measuring ofwei‘ght (?fe.:ach nmember, then ee.lch
100 candidates had to be changed from 60 to 30 time Fhe average weight 18 inggcased by 1 kg. Find
and the average with respect to all the examinees the dlfference between Welght Ofﬁrst&last rnernber.
came down to 45 marks. The total number of 18 § 9 5 =afaqal f oo w9 9 T T SR
candidates .VVhO Fook the exam, was . TEF S a9 RPN & aE Sed aeH
gﬁ@%ﬁi@mm%i_;ﬁmo%y : forepTen TR @ egaR, Sea o § 1 R 9fig
3T 1 FH F AR 100 SR S 60 T | T SRS AR B S 1 SRR 2
¥ 30 B 9 T 3R HA BE H1 A 45 2 S 2 .
e § Y3 I = =5 3 S 23.  Radha wasaskedto find the average of N consecutive
il : ’ natural namberSstarting from 1. By mistake, he added
(a) 200 (b) 210 a numbentwiee but he didn't notice it. As a result, he
(c) 240 (d) 180 1
14.  Inan examination, the average of marks was found obtaihed a wrong average of 45— . Find the number
. ) 18
to be 50. For deducting marks for computational .
errors, the marks of 100 candidates had to be hgadded twice.
changed from 90 to 60 each and so the average of TR I 1 W IE M Al N AR Wiepiae Sest
marks came down to 45. The total number of &+ 39d @—,} % foIu wer S %’ Tt 9 9% TH
candidates, W.hO éppeared at the examination, was :' | e A AR Gﬁg X ) qRoTTEET <Y T
forelt wden o, sishi w1 fiEa 50 T g WML H
I ge TR JfE b HRO 100 B F HE 9O, R S 452 s 2 2, A I Hen T i A AR
TIF R 60 R B T FEE wRO i 18
T 45 B S T W H wffege S0 # REUREIE
HE&A G H? 24.  If the average of 5 consecutive number starting with
. m is n. Find the average of 6 consecutive number
15. Find average . .
Yo T starting with m + 2
‘ 5 TR GEA ST m & 9 et & 1 i o @,
1, 2,2 333 4444 .......4 1.0%7,7,1,7,7. . . .
@) 28 ) s Al 6 AR Gemns w1 id W[ HA S om +2 9
)
© 20 (d) #140 I B <
16.  Find the average of 25. a, b, ¢, d, e are five consecutive odd number. Find
e 9 WO the average of all this number in terms of a.
‘ 3 a, b, ¢ d edd @R favm ged ?1 s g
P42 437 4. 00 GeAE a1 SiEd o % 9 W @ A
17.  Average of 5 cofisecutive number is 23. Find the largest | 26. Average of 13 number is 52. Average of first 7
number. number is 51. Average of last 7 number is 54. Find
5 AAReEEE w1 efimd 23 1A el et 7% number.
e FmEr? 13 wemsi i 3ied 52 R Teel 7 GeAsd w1 sie
18.  Average of 6 consecutive odd number is 40. Find 51 1 91 Y 7 WEnS i SiEd 54 B Al 74 wen
the largest number. 22
6 TR fomm e 1 i 40 @ gt wen 27.  Average of 17 number is 63. Average of first 9
LRI number is 64. Average of last 9 number is 61. Find
19. If the average of 116 consecutive even number is 9" number.
201. Find the sum of first and last number. 17 GEmali 1 3 63 ¥ Yeelt 9 Gemsl @ o 64
M 116 oNMAN §H @Al &1 Ed 201 2, 2 9 FY 9 TEA F ATd 61 T 95 &N I
Eel GEA SR fEd Ge ®1 A R em? i
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IFd decrdl &, [Hh qeeliT | @RI S8l 39T 8HIT | |
A-7, Top Floor, Jai Building, Commercial Complex Near Chawla Restaurant,
Dr Mukherijee Nascar. Delhi-110009
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28.  Average age of 17 student of a class is 16 years. Ifa 38 TIRAl T AT 48 €1 EhdH UN, A IRl
new student join the class then average age becomes Y 172 T S & d SHT stfehan @ik = T
20. Then find the age of new student.
¥ 17 foeneffal =1 s ? i
:;Z PECH 1T s 3“—‘3[ 16 ¥t 35. The bowling average of a bowler is 12.4. He took 5
R ferenedf o S @ &g 20 wickets for 26 runs in his last match then his average
T B S § @ T faneff %t g fehaH 27 improves by 0.4. Find the number of wickets before
29.  Average weight of 17 players of a team is 22 kg. If last match.
a player leave the team then the average becomes T AT 1 el S 12.4 ¢ | 3ifam T H
23 kg then find the weight of that player. 3 fEeret 26 W 3H 5 fawe o 2| 3k sE
T fFde W & 17 faefed 1 o asH 22 afer sl & 0.4 %1 QUR B ST s
o B Uk faerel Sigs e T € @ o i I T s e fse el
e 23 foam &t T @ Big T fEerdt A 36. The bowling average of a béwiler 15 12.4. He took 5
F TAT? wickets for 26 runs in his lastmatch then his average
30. There is some average of 11 innings of a batsman. improves by 0.2. Find the ngmber of wickets before
He scores 90 runs in 12 innings then average is last match.
decreased by 5 runs. Find his current average. T a1 Sfam e 12,4 21 Sifm T9 9 3
T FeolaS ®1 11 WA w1 BB hEa g1 12ef faael 26 T AL 5 fgehe ol & iR SHeh! =i
T H ST 90 T S R IHHT SiEd 5 % TN ed ® 0.2 FLGUR o S 1 i i 9w
qr e ST sired fha 27 3T forad fawe e o
31. There is some average of 8 innings of a batsman. | 37. A bowlefwhose bowling average is 24.85 runs per
He scores 100 runs in 9" innings then average is wieket, takes 5 wickets for 52 runs in next inning
increased by 9 runs. Find his current average. and thereby decreases his average by 0.85. Find the
T docdrS F 8 T &1 w5 aga 21 9ot U number of wickets before last match.
F 100 W TR A G 9 FT TN A o I UF frser fome eamt siwq 24.85 @ wfd
S fra 32 fashe 21 errelt Ul # o Y% 52 W W 5 fame
32. If the average of 64 innings of a batsman is 62glf | S %' ST HROT SET SET 0.85 FH =1 S
highest and lowest innings are excluded thef® the 21 3ifqm T @ wed SE foha fame fem 92
average of remaining 62 innings is 60. Ifythey! 38,  The average weight of 3 men A, B and C is 84 kg.
differepce be.:twe':en highest and lowest inning§lisel80 Another man D joins the group and the average now
runs. Find his highest and lowest score. become 80 kg. If another man E, whose weight is 3
forel SociaTst ®1 64 WA @1 e e 3R kg more than that of D, replaces A, then average
T Tfaean 3K = T S F e S weight of B, C, D and E becomes 79 kg. The weight
I 62 WAl w1 IEd 60 @l Aferskaw TR, ofAis. R
SFAE T W 180 T AR A% 6T AT 3 A A, B, C 1 S oo 84 81 = D
SR = W ot wifter #X foan S @ e asH 80 R &
. . S 21 4% E et a5, D& aeHE 3 fonn s
33.  If the average of 42 innifigs ofa batsman is 30. If
highest and lowest innings are excluded then the 2, SHH AF e Wi F 2 A B, C, D, EH
average of remaining 40 innings is 28. If the Argd s 79 RISl ST B1 Al A T 9o 1 §2
differel}ce be?twefen highest and lowestinnings is 100 | 39, The average weight of 4men A, B, C and D is 67 kg.
runs. Find his highest and lowest score. Another man E joins the group and the average now
ol eciaieingl, 42 WIRET w1 3fEd 30 B PR become 65 kg. If another man F, whose weight is 4 kg
ThHT ST =[H R Tt < S | o more than that of E, replaces A, then average weight
40 iR T 28 ¥ HfuEan T, T ;)sz, C, D, E and F becomes 64 kg. The weight of A
T 1005 & A SHHT SAhaH SR <A TR '
3 4 =AF A, B, C, D 3iwd ao 67 fmm el afk
u Ifth‘ 40 inmines of a batsiman is 50, If E®l off onfed & & at sfi|d oo 65 foam @
. the average of 40 innings of a batsman is 50. T & A AT P S o T SR FE
highest and lowest innings are excluded then the
average of remaining 38 innings is 48. If the 5, E% o5 ¥ 4 fm S« € @ B,C,D,E 3R
difference between highest and lowest innings is 172 F ol SIEd o 64 R0 &1 STl & 1l AT oS
runs. Find his highest and lowest score. BT
foRet SectaTst T 40 WA H1 W 50 B SR | 40.  The average weight of 5men A, B,C, D and E is 94
g Ik IR =aH U feeret < ST o 9 kg. Another man F joins the group and the average now
Contact No.: 9555202436, 9716761136 4
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become 96 kg. Weight of E is 6 kg less than of weight F.  46.  There are 30 workers in a factory. If the number of
Now A isreplaced by G then the average weight becomes workers increases by 10, then the total wages
98 kg. Find the difference the weight of Aand G . increased by Rs. 9000 per day while the average
SR AL B.C.D 3R E & 3irad 957 94 fFm 31 wages per worker decreases by Rs. 75. Find the
o7 original total wages of factory.
I F ! wnfiet & o df 3hed 96 feam =1 S 2 o s o .
E® 959, F& o5 § 6 & &7 31 af% A% i ¥ 30 W I T §1 10 Tl F
STE G Sl Slied oS 98 TR @ ST 2 g %ﬁaﬁﬁ“:aﬁaﬁ 9000 %
R i S o€ St B e 9fd AN SiEd Aeigd 75 € HA
_ N B S B HREH H B HE e TG w1 e
41. The average weight A, B, C and D is 40 kg. A new 'FIGF{@ Y
person E is also included in the group, then the ’ ' )
average weight of the group is increased by 1 kg. 47. 9 people went to a hotel fox comblngd dinner.
Again a new person F replaces A, then the new 8 people out of 9 spend Rs. 30igach’on dinner . 9th
average of 5 persons becomes 42. Find the average person spend Rs. 20 more thanigheh average of all 9
weight of B, C, D, F. persons. Find the total expendifure on dinner.
A, B,C,D % 3ia as 40 frm e afz E 1 wnfia 9 =l Few T ST )8 .Egiaizi a[ S |
3 1 ola T | R e S 31 AR A S A A R 30 T qen od A A
il R Tl 9 AT Bpald o 20 T U @ A
39 & S 21 B, C, D iR F a1 3ied oo =amt 2 ﬁ7ﬁggﬂ$m@# AT S e e
42.  There are 35 students in a hostel. If the number of s ) ]
students increases by 7, then the expenses of the 48. 19 peoplegwerit to a hotel for a combmeq dmner
mess increased by Rs. 42 per day while the average party. 14t them spent Rs. 79 each on their dinner
expenditure per head diminishes by Re. 1. Find the afid (thelgest spent Rs. 7 more than the average
original expenditure of the mess. expenditure of all the 19. What was the average
T BEA 35 B 1 7 O 3R 37 S €1 Al 6 fonjgy spent by each person?
1 WA 1 B © 42 % 9 Wl 2| Sk U LOSSTH Feg TR e H T el I H 14
N . . st A feR W y@® 7 79 & @4 R, 9ol a9
BE 1 T HH S § B H IR H e T . '
o LA N | A 19 I % offed ' | 7 % sk @
‘ fohd @ s STl 1 3fEd @ ¥ en?
43.  There are 60 students in a hostel. If the numbemef . .

. 49. The average weight of 11 persons out of 12 is 95
students increases by 20, then the expenses ofithe ke. Th oht of 12th is 33 k th
mess increased by Rs. 120 per day while the avetage g he welght o DEISON 1S 39 Kg MOTE than
expenditure per head diminishes by Re. lg Fifidithe thfelazv e}:lrage weight ofall 12 persons. Find the weight

S . Y o of 12th persons.
original expenditure of the mess. . .
T IEEE H 60 B T 20 S, @K 31 S 12 TI;;@”TWH?HWFE.?
B9 %1 gfafe w1 wo @ai Qg0 By ST B .
AP S sfrad oo | 33 R erfuss 1 @ 129 st
; ) EIRCEREC2| ?
g H o @l foeaT a7 #r . .
. 50. 9 people went to a hotel for combined dinner.
44.  There are 42 students ingathostel. If the number of 8 people out of 9 spend Rs. 27 each on dinner . 9th
students increases by Tythen the expenses of the person spend Rs. 16 less than then average of all
Zi?:;g?gjii?ﬁi:jé Isn iirsﬁzz Vl;’;nifsthi i_ve;?fz persons. Find the total expenditure on dinner.
the original expenditure of the mess. 9 I 4 8 ) A o
- i e 31 7R 7 7 S T T A R YSE 7 27 T @4 fRAl qo1 99 e 7 |t
S 1 TRt et T 3,50 % % S & AfFE & 3fed @ 16 & F° @ fhdl df =7 gl
e DU % BN e T Td fera 87
T ST @ W 1.50 T i A S S Sl i sl BT | T{Wh %b R
5 . n a particular week the average number of people
M T T H who visited the Taj Mahal is 40. If we exclude the
45. There are 320 Smdents ma hOStel. If the number Of holidays then the average is increased by 16. Further
students decreases by 10, then the expenses of the if we exclude also the day on which the max. number
mess decreased by Rs. 58 per day while the average of 112 people visited the Taj Mahal then average
expenditure per head increases by 20 paise. Find becomes 42. The number of holidays in the week is:
the original ex.penditure of the mess. o fao TR § a Ted e 9 i &6
T IEEE H 320 feneff ?1 ARk 10 BE SEEE o 40 31 9% B w2, S 16 T
o A A T 1 gfdafed w1 K w58 % A STl €1 A ' wE R B @ s 3 e R
ST & e el @ 20 W S @ A SAferad 112 @ 9 9, @ iea 42 8 S 2
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52. In a class, the number of boys and girls are distinct. 3iEd 9ed 750 % B a1 1 B I SiEd qed F
The average age of all the student in the class equals BUP,
the average of the average age of the boys and the ¢ fa class i ¢
average age of the girls. The sum of the average age of S8. Ayerage score of 52 students of a class is 85. I tqp
the boys and the average age of the girls is 10 years. five scorer are excluded then th? average 1s
Find the average age (in years) of the boys of the class. decreased by 2. If gll five scorer are distinct integer
. N . . and none of them is less than 80. 4 scorer out of 5
T Hel H deh! IR dgHl &t gen fa=-fam X . . . :
: o ) orm a arithmetic progression having common
21 we & Wit faenfela 1 sfwa oy (e 1 difference 2. Find the maximum possible score of
3T g T ASfHAT BT ofrTd 3g) & iwd & the topper.
IR E1 AGH T S 1] Jen asfwi =1 e 50 faenfefal &1 ol TR 85 Bip3TR 2 B 5
g &1 A 10 I T dF ke H A H i R FEE B S @ i @R 2 F @ S
1 F 72 219 1 5 AW A1 THR T sk ©, qen
53  The average monthly income of a family of four foFdt &7 off @R 80 ¥ HETEN 1 2R gt 5 2w
i the Tamily got married and lef home, so e | 04 2 T g dof A § fo
average monthly income of the family come down 2 @1 T 2 o A &2
to Rs. 14,660. What is monthly income of the | 59. A ship 55 km frem,the shore springs a leak which
married daughter? admits 2 tonn€s of water in 6 min . 80 tonnes of
IR S 9l TF IRER &1 sigd mifae o water would saffeér to sink it, but the pumps can
15,130 T94 ol TRAR &1 eetEd ¥ @ Th throw outt 12ft01‘1lpestﬁft\‘):ater ?nthourilgndhthe
; ; averagéateof sailing that it may just reach the shore
- e,ﬁj: zﬁ:‘: R BI% aiﬁq;g;ﬁaﬁmw ag,it bgegins to sink. ¢ .
AT 14, | .
o am 1466%07 U WE 99 a2 ¥ 55 Rl R R W A
o A <hionine elork I ,h‘6d“ § B2 B ST 21 SR 6 fie ® 2 T U SR o
54. shipping clerk has t(? weigh {stlnct pac ets..He - FTUT | S F 12 o T SR
weighs them four at a time, weighting all the possible .
combinations of the packets from the six. The average €1 80 T WA eI FEUER 1 e 3
weight of all the weighing combinations is found toje | Ifgd =t fhal W g 9 wed R W
500 g. What is the combined weight of all the six wgH A2
packets? . . .
. ‘ 60. A ship 60 km from the shore springs a leak which
T R T w6 T Yhe a9 H R meE
T 99 W R @t 4 Yhe 1 a5 HE admits S%tonnes of water in 15 min. 25 tonnes of
S off 9 6 ¥ ¥ 4 & o7 Ghd_ePUAF 39
45 7 3 500 7 SN NTFE water would suffer to sink her, but the pumps can
el A gm? throw 0ut121t0nnes of water an hour. Find the
55. The average temperature froin/Menday, Tuesday, 2 - )
Wednesday is 38°C. While the avérage temperature average rate of §a111ng .that she may just reach the
Tuesday, Wednesday, Bhursday is 43°C. If the shore as she begins to sink.
average temperature dfMonday and Thursday is T SR 95 d€ § 60 forHl. ? @R v H
18.5°C. Find the temperature of Monday. 3
T, WTed, o HISIE dHE 38°C 71 HA, 94 @E%ﬁm%laﬁmsﬁﬂzﬁﬁawﬁmaﬁ
JEEld I SNFTWHEE  43°C R 3R 9 3R
Jeeqfa w1 @Ee I 18.5°C ®, @ W W|quﬁ1aﬁﬁ12%aqﬁwm
AT 9 21 25 2 U WIS I gal Fehal &1 WS o
56. The average expenditure of 4 Boys and 3 Girls is i =1t frat @ TR @a[ 3 T yga fFR ™
Rs. 120°9f the average expenditure of Boy's is Rs. S
150 then find out average expenditure of Girl's. e ’
4 TH iR 3 SRl s =4 120 ® 61. The a;/::;ag:: agihof an adult class 1; 3420 years. 1.2
. . new students with an average age o ears join
I ASH HT i @H 150 T. &, A ASHHA H TAgE a3 yedrs ]
the class, thereby decreasing the average of the class
siga w T 2 by 4 years. Find the original strength of the class
T e averoe costof 1 fable. s Ra 750, Find the | oy el 4 o1 S o9 40 5 B 12 7
average cist of 1 chair . . . T FA g 32 Wit ¢
' 8 o hen 1 ifdd 31 4 Tret F9 & S R
6 TSt 3R 12 BT FT HIEG 7800 . B 1 B ,
- ql we W U fehad W= 942
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62.  The average expenditure of a man for the first five 69.  The average of marks obtained by 120 candidates
months is Rs. 1200 and for the next seven months is in a certain examination is 35. If the average marks
Rs. 1300. Find his monthly average income if he of passed candidates is 39 and that of the failed
saves Rs. 2900 during the year. candidates is 15, what is the number of candidates
U AT H1 Tedl 5 W 1 SiEd @9 1200 % who passed the examination?
2 iR ST WM HEH H 1300 % T SR 9 R T T 120 e GRI IR F S
A H 2900 T SN € Al STl WG oA 35 @1 el whenelidl o siwd s 39 ¢ s
e 3 Feol wdieneffal & 15 @1 @ T e qheneff €
63. The average daily number of person passing a St et 7 3 g
certain point on Monday, Tuesday, Wednesday and | 70.  The average of marks obtained byal25 candidates
Thursday is 2163. The average daily number passing in a certain examination is 29. Ifithe average marks
on Friday, Saturday and Sunday is 1960. What is of passed candidates is 36 andythat of the failed
the daily average for the whole weak? candidates is 11, what is the mamber of candidates
= AN SiEaT 2163 =afRE |9, H5T 4, gEEfa who failed the examination?
F U ffvem fag 9 oA 81 W A9 i T I F 125 FARTA s iR s
T & R AR F e A9 F S F S ool wleelfAiEmy @ o O e e @
64.  Theaverage of x numbers is 3x. If (x— 1) is subtracted St sH e gt g
from each given number, what will be the new | 71.  The avera@e®@£ I3 results is 39. Average of first 5 is
average? 38 an@d average of last 7 is 36. Find the value of the
x e 1 G 3x T, SR W HeA § H (x— 1) 6thn“mb‘?r' ‘
ST S A T AR 13 QR 1 SiiEd 39?1 et 5 UROTH i s
65. The average weight of 8 persons increases by 1.5 3? ) ST i & 7 R 1 3l 36 €, B
kg. If a person weighing 65 kg is replaced by a new @ B
person, what could be the weight of the new persons? | 727 (_The average age of all the students of a class is 22
8 =fsrqat T S awiT 1.5 TR ECn 2| 3R 65 years. The average age of boys of the class is 24
o & T SAfe 1 TF T AR O age, <o years and that of the girls is 20 years. If the number
T e & 2 of girls in the class is 30, then the find the number
Al ’ of students in the class.
66. The average age of a committee of 7 truste€ isathe T Fe F T faenedR & e a1 22 Tl 3
same as it was 5 years ago, a younger manthaying X 3
been substituted for one of them. How miich§ounger sS4 EF&]_T & AR ! ~24 e @ f':ﬁ—{
was he than the trustee whose placedigyto8K? eTSfaHRAl H1 20 Wl € SR B § 30 ASHA ¢
Th HHA & 7 TR H AT S, T Ted & @ ke W TTSH FT A JW F?
TR B I G TH TR Bl uD S 9§ st | 73- The average of the first and the second of three
foor S 21 @S9 St @ Mty <9 == F numbers is 10 more than the average of the second
§ Frat s oid B and the third of these numbers. What is the difference
7 TP U between the first and the third of these three
67. The average age of 1Wperséns in a committee is numbers?
increased by 2 yearsgwhen three men aged 32 years, 3 TEmet ¥ § Tl SR <l wems w i
33 years and 34g@years are substituted by three et . 3 ’
women. Find therayerage age of these three women. i ?ﬁi E ‘g 31;79 |10 3:ﬁ‘ Ll
. qg?ﬁ GiEstl ?
T FHE agll\eEE # sl oy 2 W Wy qET ® S A A
St 2 ST, 3 e} SR 32 |el, 33 9 74.  The average marks scored by Ganesh in English,
. % ﬁ’ S ?ﬂ'«ﬁ 3 Science, Mathematics and History is less than 15
QR ST from that scored by him in English, History,
B SIRBERE @ Geography and Mathematics. What is the difference
68. Ina class there are 27 students whose average age of marks in Science and Geography scored by him?
is decreased by 4 months, when 4 students aged, W % TSN, fage, TE SR shem @ siwd
16, 17, 18 and 19 years respectively are replaced S ST, ThEm ‘Tﬁﬂ @i T o sheg siE
by the same number of students. Find the average 3 ’ & ﬁ’ . 3 N
age of the new students. 15. +H %7 &l £i|5| A kil
Tk kel o 27 Teeneffal &1 stwq g 4 WEH A S e
B IR S A 16, 17, 18 3K 19 99 & 4 75.  The average age of a husband and wife was 23 years
. S when they were married 5 years ago. The average age
ferneffefl 1 e, K{:ﬁ 4 7 foreneff @ < @1 of the husband, the wife and a child who was born during
ST A foreneff 7 sl EIRAEE 27 the interval, is 20 years now. How old is the child now?
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T Ufd SR Uoi i G g 23 Giel off 5

T TeaS gRI e (Mv=d il ¥ fga ™ Fa

IR 5 Wl Tedd WE gE| o ufd, o 3R T T g 900 ffl el ¥= W SEA 4 fashe
N Y S a=d i 3 g 20 &l Bl fod 3R 256 W &3 URoTEEEY SEET S
=3 HI IY foRat 27 (et Tl T 1 "E@) 4 "% T A st 6=
76.  The average height of 40 students is 163 cm. On a Y ved Ters | fad faeme fordl
particular day, three students. ‘A}’ B, C were absent | g1 The average marks obtained by 45 students in a class
and the average of the remaining 37 students was is 80. The difference between the marks of the
found 'to be 162 cm. If A, B have equal height and student who got the highest mark and the student
th? height of C'be 2 cm less than that of A, find the who got the least mark is 99. If both these students
height of A. .
’ . are not considered, the average of the class falls by
40 fereneffel =it siw o 163 ¥ 21 T R 1 mark. Find the highest mark.
ﬁq;x;ﬁﬁmzﬁi,s,cagmﬁgmy TF FA H 45 el gRmEraiE F1 siEa 80
ﬁiﬂrQ 3'5'5'%33ﬁ(;'g16:ﬁ B %:;RA’ 21 fomneff gR1 W stfushag 3fh TR =IAaH STt
ga‘rAaﬁg°§ E.7C AT 2 T % HT R 99 BN SR QA Henelfai 1 g K s
o Al hell 1 A | HH B S € dl A 3 a4
77. A batsman's runs just before the last match of the 5
season, adds up to 750. In his last two innings, he :
scores only 6 runs, and his average drops by 2. Find | 82.  The daily av¢ragesteniperatures in Chennai for the
his final average of the season. 7 days ofgayweek were recorded. The average
T doodrs H5H & oIfa| 9 9 Bd W temperatlites on Sunday, Monda}/ and Tuesday were
# 750 T e £ 97 =it < TRE § F99 6 20° C, 38 C & 32° C respectlyely. The average
témperatures on Thursday , Friday and Saturday
T S SR ST SEd 2 %A 8 Wi 2l ® > ;
: ; =1 2 were29°C, 22°C and 30°C respectively . If the
sl : average of average temperatures on the first three
78.  Abatsman has scored anaverage of 46 runs for a certain days of the week beginning with Sunday equals that
number of innings played in England. When he came of the last four days, find the temperature on
back to India, he played another two test matches of Wednesday.
two innings each and scored at an average of 55 ruas, = " 3
For the innings in England and in India taken togethér; l LR < % 7 fl g‘{ T H 7D
he has improved his average by 2 runs over the matehes AR A T I, W SR T i e
played in England. The number of innings playediin AN 20°C, 38° C 3R 32°C ¥ | Jeefdl, Toh 3 i
England was . . 1 ifed A HE: 29°C, 22°C 3R 30°C Bl 3R
T SeedrS g 3vs § Wefl T gefiead e (Y YE) B T 99 G B oled aomm
e 1 ST 46 T € S 5F FREREIEE S 1 olgd 3id & 4 feli & olgd & TR € @ R
q 9% TAE A T A TG FHAGET T IR
F 2 1 AHH I E?
ﬁfSSH %lwﬁ?\ aﬁ;waﬁ 83. T family had 8 b d th
. . . . . en years ago, a family had 8 members and the
i ﬁaai; e A e 3 ?1? ) 1?;&:;[ avergge of tl;geir ages the?;l was 33 years. Four years
.2 i i Tl B SMRle | 1 TS later, a member died at age of 64 years and a boy
T A w e i was born, After three more years, another member
79. Raju went to the matket to purchase three pens. The died , at the age of 72 years and a girl was born.
cost of the first pen@wasmore than that of the second by Find the present average age of this family (in years).
25% , which wasmorte than that of the third by 20% . If 10 911 YES T URER H 8 T 9 | W TR g
the average cost'of the first two pens was Rs. 15 more 3 - a8 3
than of the _lasttwe pens, find the cost of the costliest il 33 " 4 Hiel S TH 64 HaE
pen. 1 TG B T SR Tk gl US1 gell 9% % 3R
] FMCE A T ElE T vee T g, T W A% 72 9 H Th S W T IR TR
T d 2By arfss o, Sifer dER U @ 20% e U g8l 3 URER w1 adur iEd g fohan
Afersh o1l 3R T < U 1 ofed o, Sifam Tt 2
A T e T 9 15 & H= %, @ W9 | 84.  There are three sections A,Band Cinclass X ofa
el U9 T Hod 1 BT school. The average weight of all the students in
80. The total number of runs given by a bowler in a clalsses Aand B togefther is 26 kg. The average
certain number of innings was 900. In the next match weight of all students in classes B and C together is
he took 4 wickets and gave 256 runs. As a result, 24 kg. What is the average weight of the students in
his average (number of wickets taken) went up by all the three classes put together. If the average
4. How many wickets did the bowler take before weight of the students in the classes A, B and C are
the last match? 24 kg, 27 kg and 21 kg respectively.
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T Thet % el 10 & diF a1 A, B, C 81 el AR

score of class Y is 76. The average score of class Z

B Tl s=ai w1 3iEd o 26 TR § wer B 3l is 85. The average score of class X and Y is 79 and
C® Tt Tt &1 i FoF 24 R ¥ A i Zzgzgz o (‘)’E ;f;;:;nizzli 81. What s the
o foeneffli &1 siea oM 0 m? 4fE wa A, B, . U
. 7ot & AT wensti X, Y, ZH S & 3
C o fornefi 1 eired aw wwen: 24 TR, 27 R
S o1 o ¥ o e X o1 3ied ThR 83 21 e Y 1 S
65 Th 48 students in a class il th ] Th 76 & hET Z T STHT ThI 85 T Hal X 3N
. ere are 48 students in a class with the age of one v e @R 79 2w Y @R z o s
of the students being twice that of the age of another.
If these two students are replaced by two others R 81 8 il Fel X, Y, Z %1 S ThR 1 7
whose ages are 16 years and 11 years respectively, | 90.  Rajeev earns 3/2 times in January,April, July and
the average age of the class increases by 1.5 month. October than his average eargingyef (Rs. 600 per
Find the age of the younger of the two students. month) in the rest of the monthshSo his savings in
o w1 48 Fredl R QT R a1 @ the Jar;luary,f /l\lpril, July alrlld Oc.toberngoes‘Kt)(()) 5/4
= a7 Q g’"l'"ﬁ _%\ TR A B Faemeft &Y sE tlmest.ato t erest.mont S'saving of Rs. . per
month in the year. Findithe'average expenditure of
16 91t 3R 11 o & fereneff on S| @ A e per month
aﬁaﬁwml.smaa{ai%laﬁﬁm%ﬁﬁf T e, e S R d A
?
¥ W B fammef F1 o e A I A (600 % W HEFT) 372
86.  An officer's pension on retiremept from service is T T FNSTET S, o1, w 3R STHIR
equgl to ha?f the average salary during last 36 mF)nths = o @ N S 400 B, 9R W
of his service. His salary from 1 January 1954 is Rs. 3 [ 3
380 per month with increment of Rs. 40 on 1 October T ST T IEFT T T F T
1954, 1 October 1955 and 1 October 1956. Ifheretires | 91.  Theaxerage age of a group of men is 20 years. If x
on 1 January , 1957 , what pension does he draw? imenhwhose average age is k years join the group,
T THR F1 Ferrde 1 ToF 3T& 1fad 36 the ayerﬁge age of }tlhe group would be ky yearsl. Ifx
a1 i @ aled 3q @ o @ e ¥ Men in the group whose average age is k years leave
the group, the would by y year. Find the value of £.
3IFHT A | S 1954 1 380 %, U wEMT ol :
| AR % Tk T i SEd g 20 F9 {1 SR
| STERR 1954, 1 37aRaN 1955 3R | T 4956 L o & 5o ¥
3 x STRHI B
1 40 % HI A Ihg BT T SR | S 4959
1 femd g o s e T o TYE H1 SiEd g pad B St 1 SR ke i
7. It o rbe three positi . h‘ht A g & x S Y Big B T W 2 A
. P, q, ¥ be three positive numbers such thabp >¢> r. 3 5
when the smallest number is added to thedifference 'y i B S %|. kEh"l trr«r T
of the rest two number, then the averagd®fth&Tesultant | 92. 16 chllqrep are to be divided Into two groups Aand
number and the original numbers exeeptto the smallest B consisting of 19 and 6 chlldr.en. The average
number is 21 more than the averageyof all the three percent marks obtained by the children of Group A
original numbers . Find the valfic/0fa(p — g). is 75 anq the average percent marks of all the 16
R p, g, A S e & s p>q> r A chlldr.en is 76. What is the average percent marks
. , . L of children of Group B ?
T B W& I A SH S & AR H Siel S . L. .
: . 16 Sr=di W1 I STET-Te Tl AH 10 T=a &l
T @ wRund e sk arafer Gemst (TEd B : N
. . A BH 6 wreal 1§ fawiierd &3 ?1 W A SN
TE i D) Hpald asft & Tt Gemnsd & . .
NSRRI, - T D T S 1 SiEd e 75 @ qen @t 16 st
88. A student orffhis bi thd(pji'q?[ ibuted ‘ E;'ITIP‘SIT‘?I Gilﬁlﬁﬁ Eh‘[ﬁ 76 2 B#
. student onghig birthday distributed on an average 5 .
5 chocolafesyper student. If on the arrival of the il . T F
teachegantl the headmaster to whom the student | 93- A man bought 13 sh1rt§ of Rs. 50 each, 15 pants f)f
givesgl0and 15 chocolates respectively, the average R?- 60 cach and 12 pairs of shoes a.t Rs. 65 a pair.
chocolate distributed per head increases to 5.5. How Find the average value of all the article.
many students were in the class? T Afed 4 13 HHS 50 T Ufd FHS ®I R 9
Tk =9 7 3 5 5 W S 5 wishele Uil T 15 U 60 & Wid U &1 X G a1 12 S
T Wit e iR TeuRe & M W S | Sd 65 % U SIS H W W @RI 37 A aega
ST wHE: 10 3R 15 Ak oo st w 1 i g T
weheie 1 e Wi At TEHL 5.5 B ST 21| 94. The average age of 11 players of a cricket team is
a wen o Exdl ohay a=9 92 increased by 2 months when two of them aged 18
89. Three maths classes : X, Y and Z, take an algebra ﬁlars and 20 years ?ri replace(li by tw'o new players.
test. The average score of class X is 83. The average ¢ average age of the new players 1s
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foret forahe 2m & 11 faenfeal &t fga 3 § 2 101.  Average marks of 100 students of a class is 58. Later
TR # gfg 8 S RS A figerel forat 39 it.was found that 86 was mistakenly written as 68.
18 T qE 20 T ¥, A Bre T  qo AR A=A Find the actual average.
2 fam e e = S T e T HEl % 100 d=di ol Hd 58 o1l 91€ § qal
S @ T A el foh Terdt | 86 1 e 68 fer@ feam e,
95.  Thereare 10 compartments in passenger train which R W S
carries on an average 20 passengers per | 102. Average marks of maths of 5 students is 50. Later it
compartment. If at least 12 passengers were sitting was found that 48 was mistakenly reworded as 84.
in each compartment and no compartment has equal Find the actual average.
nz;rslzgr of pai)sengers tllleli gngmmum howrtmanty s fmelt & T & s sl S F T
p gercan e?accomo ate manycon.lpa ment. e 5 1 Forenelt Rt 48 ohe S Tt T 84
TH TS 3 H 10 Tod @1 Wi osd W S 20 . - i S 3
o S $1 SR FH A B 12 A T T d W e T )" <
33 3 ok fret == § TEE A 99 3 @ fee 103. Average marks of 40 sudentsis 72. Three numbers
= § afean fead A 64, 62 & 84 were mistakenly read as 68, 65, 73
96.  The number of 2 wheelers are twice the number of respectively. Find g agtual average.
3 wheelers and the number of 4 wheelers are equal 40 BTAl % 3G, b2 €, A= H T e o o
to the number of 2 wheelers. Find the average of 3BT 64, 621084 )% TeTdl ¥ FAAW: 68, 65, 73
wheel per vehicle. fora e Mg il Terdt GuRA & oI5 W2l sied
2 R HT GEA 3 =Io’ ®1 qew 9 g ? iR I M
4 R T T 2 R B R 1 o 9 98T | 104, Avefag@price of 100 articles is 46. Later it was found
= &1 a1 B that 16,was read as 61 and 43 was read as 34 and
97.  The average of six numbers is 32. If each of the the articles were 90 instead of 100. Find the actual
first three numbers is increased by 2 and each of the average.
remaining three numbers is decreased by 4, then find 100 =it w1 37Ed 46 1 @1 H U1 el 16
the new average. 61 9g Tt o qen 43 i 34 wg foran om =i +Ff
: HEmsl 1 IEd 32 ® SR U U], i 100 =& 90 oft| &l =reqe § o S g =R o
g 2 § et 21 3 w39 3 TeTEd Wy 105 In a class, there are 40 boys and their average age is
o AR B R A 2 | B 16 years. One boy, ages 17 years, leaving the class
98.  There are 6 consecutive odd numbers indncreasing and another joining, the average age becomes
order. The difference between the average of the 15.875 years. The age of the new boys is :
squares of the first 4 numbers and thefast4 numbers TF FE H 40 ASH ¢ A1 ITH! AEA A1 16 W
is 64. If the sum of the squaresyof theyfirst and the 2 TR e st ag 17 ad 2, el 9 =l
last element (i.e., odd .numbers) 18178, then find AT ® qe T 3 S HE | WiHfed gl Sl
the average of all the six nunibers} T 4 s a1 15.875 % 2 St 2 Ee
IR 6 AR T G 88 %9 § 81 Teett 4 F s
gemsti & o 1 st AR SiaH 4 Gerst & ol @ 106, Th . .
) . e average age of 30 boys in a class is 15 years.
S 1 R 64 1 AR Tl IR Sl e & o One boy, aged 20 years, left the class, but two new
F g 178 B A @G Tt w1 e @ g boys came in this place whose age differ by 5 years.
99.  Average of 50gnumbers is 38. If two numbers 45 If the average age of all boys now in the class
and 55 are fémoyed then find the average of rest becomes 15 years, the age of the younger newcomer
numbers, 15 ] )
50 wEmElE o 38 21 AR < gemt 45 iR Tl § 30 TR W SR o 15 a0 #ww
Ssmﬁm'ﬁqﬁmﬁmaﬁwwmj WW%ZO“%,@@@@@W%@
. T3 forenefl U TOH W wen U A €, TSR
100. The average weight of a group of 20 boys was . . . .
calculated to be 89.4 kg and it was later discovered o H 5 o F AR 21 A e | sufe
that one weight was misread as 78 kg instead of the o1 711 3fd 15 99 e, o wmen § T s B H
correct one of 87 kg. The correct average weight is 39 A H
20 AEH &% TH HYE H Eq I 89.4 fRW 2 | 107. The average age of a husband and a wife was 27
92 4 I8 T T R T E@Eﬁ“ 1 951 Todl 9 years when the child was born. The average age of
87 T =1 s 78 T fomn @ @ 9 sia the husband, the wife and a new-born child is 21
T D years now. The present age of the child is :
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ufd T WAt i SEd g 27 oY off, S| g=d

fTeIHaTSTt & T ool § 8 Faanit of TR STk

S gl O, Uil U a=d 1 adAE stiEa ey Ifgd TR 87 Ak o1 Siad o 1 3k W
21 o¢ 1 S F TdEE g TG B2 TR & WA | 2 SIfad om 3t 6 wiaEitmaEl
108. The average age of A and B is 20 years. If A is to be T T THR 85 oM Fasiar qen Eﬁi TIA W A
replaced by C, the average would be 19 years. The Al GfTaRT h1 SR HHAT: AT A1?
averagg of C aqd Ais 21 yeellrs. The ages of A, B 113. Two sections of class 10* A and B have 30 and 35
and C in order (in years) are : students respectively. Average score of Maths of
AR B iEd 3y 20 af B Ak A®I C® section A is 70 and average score of section A and
yiqeenfya fopen &, @ ofed 19 99 B ST =) B is 62. Find the average score of section B.
A CUE AT 3Ha a1 21 o € d 5aqid A, B el faeme™ & ®& 10 & @Ug AN @UE BH
qAql C I g F B et 1 den waw: 30 @d 35 ¢ @S AW
109. Three years ago, the average age of a family of 5 Tifora # ferenfefat & oiRl FPSAFP70 T T @S A
members was 17 years. A baby having been born qem B & Gimfea faenfeiai ehe@ian o1 i 62 ®1
the average age of the family is the same as three @ B& famfei e = aima = 22
years ago. The present age of the baby (in years) is: 114. Th five brothers in a famil 1
i . ere are five brothers.in a family average salary
3 9 Wedd, 5 HIHT et IER F S g 17 of 4 elders brothess is Rs. 740. Now the youngest
o B Th a1 9 Bl © T f qRaR i brother starts£afning and the average salary of all
gdam siea 3 3 a9 Ted T 3 3 % guH brothers decredses by Rs. 34. If the eldest brother
2 7= 1 adgqm 7 M Exl) takes a léavepand starts another work then his
. monthlg salary is Rs. 80 more than the youngest
110. The average age of 30 students of a class is 14 years .
L . brothep Now the average salary is reduced to Rs.
4 months. After admission of 5 new student in the : L
636Find the initial salary of eldest brother and
class the average becomes 13 years 9 months. The ot brother
youngest one of the five new students is 9 years 11 . . . _
months old. The average age of the remaining 4 new W TR TRER At # ?ﬂf aj\:’l <t
students is : HicmE e oaT ®. 740 €1 319 Ul Sed B
T FaE B 30 BH F S A 14 99 4 e 2 WE FHA T &1 T Wi B A KA % 34
SHFT B H 5 9 SE @ W O B A% g STl €1 A% 379 F 9 W SATH T HA T
13 9 9 W B W 2 o AU s § e A G FH B ORI ¢ o SHeH HEr
mgaﬁllmm%|ﬁq4m@3ﬁﬁ3ﬁw WW@%%@W@WF80&FW%,
s FRa 82 a9 3d fHE TR B, 636 B Sl @1 Hed 9
111. A library has an average number of 510&isitors on WE HT TR ol oA (AR T FH W
Sunday and 240 on other days. The,average number TEel) A HeH DI WE H1 Aqq HHA: T &2
Of. visitors per day in a month af30°day beginning | 115, At the time of marriage of a son the average of age
with Sunday is : of mother, father and son is 42 yrs. After one year
Th G | T aTel wifeita e deer of marriage a baby is born when the baby turns 5
WY 510 T o7 & § 240081 30 =i = Te | years old then the average age of whole family is 36
S Tfgan § yEy B R wfate i Sente w1 years. Find the age of their daughter-in-law at the
v A O . time of her marriage.
112. Th § parfi@iplins in challenge of Shoo mfaqa% ééﬁ i
. ere were 8 partigipants in challenge of Shooting sy 42 i oft o g
and the averagescereiwas 87. The winner got 2 more
score than theyfirst runner up. Average of rest 6 H S B E, e T S5 A F E A L, T
participantsaisi85. What are the scores of winner TB RER &1 irEa 3R 36 a9 & St HIIRCE
and 1strunner up. % THF YAGY I Y A ofi?
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1. 129

6. xy

11.2

16. 255025

21. 32

26.
31.
36.

59

28

175
41.41.25 kg
46. Rs. 36000
51.2

56. Rs. 80
61. 12

66. 35 years

71.
76.
81.
86.

65
176 cm
151
Rs. 215

91. 20

96. 3
101. 58.18
106. 15 years

ANSWERS

2.50 3. Increase by 1 4.y—-101 5.0
7. mn 8. 1000 9.25 10. 31.6
12.2 13. 200 14. 600 15.5
17. 25 18. 45 19. 402 20. 12
2n+5

22. 8 kg 23. 10 24. ( 5 ) 25.a+4
27.54 28. 88 29.6 kg 305145
32.214, 34 33. 120, 20 34.174,2 3S. 85
37. 80 wickets 38.75 kg 39. 66 kg 40. 12 kg
42. Rs. 420 43. Rs. 600 44. Rs. 636 45. Rs. 3840
47.Rs. 2925 48. Rs. 81.5 49. 131 kg 50. Rs. 225
52. 5 years 53. Rs. 16540 54. 750s8m 55.11°C
57.Rs. 275 58. 187 59. 55 km/h 60. 6 km/h
62. Rs. 1500 63. 2076 64.2x +'1 65. 77 kg
67. 40% years 68. 15.25 years 69. 100 70. 35
72. 30 73. 20 74. 60 75. 4 years
77.28 78. 14 79. Rs. 90 80. 30
82.39°C 83. 26 years 84.24 kg 85. 7 years
87.63 88. 28 89.81.5 90. Rs. 266.66
92. 77%% 93aRS858.25 94. 19 years 11 months 95. 56
97.31 98. § 99.37.5 100. 89.85
102. 42.8 103. 72.1 104. 50.7 105. 12 years
107. 3 years 108. A- 22 years, B- 18 years, C- 20 years 109. 2 years

111. 285 112. 94, 92 113. 55.14

110. 10 years 4 months

114. eldest- 1000, youngest- 570

115. 25 years
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